BID SUMMARY





This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Rehabilitation Phase for

Annual Street Paving 21-23

PROJECT NO.: 2022.0050 BID NO.: 23-24.013

DID 110:: 20 2	24.010			
BID OPENING	ENGINEER'S ESTIMATE	DeSilva Gates Construction, LLC		
DATE: May 23, 2024	Date Approved:4/30/ 24	11555 Dublin Blvd.		
TIME: 3:00 p.m.	Prepared by: M. Goralka	Dublin, CA 94568		
LOCATION: City Clerk's Office		Phone: (925) 829-9220		
		Fax: (925) 803-4263		
ITE				

ITE M						
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST
1	Mobilization and General Conditions per Section 9-3.4	1 LS	\$228,700.00	\$228,700.00	\$330,000.00	\$330,000.00
2	Construction Surveying per Section 2-9	1 LS	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00
3	Water Pollution Control and SWPPP per Section 7-8.6	1 LS	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00
4	Traffic and Pedestrian Control, Temp. Signage per Section 600	1 LS	\$205,800.00	\$205,800.00	\$681,463.00	\$681,463.00
5	Clearing & Grubbing per Section 300-1	1 LS	\$15,000.00	\$15,000.00	\$40,000.00	\$40,000.00
6	Tree Removal per Section 300-1	3 EA	\$1,000.00	\$3,000.00	\$2,000.00	\$6,000.00
7	Potholing per Sections 5-1 and 306-0	1 LS	\$117,000.00	\$117,000.00	\$130,000.00	\$130,000.00
8	Adjust Gas Valve Box to Grade per Section 301-1.6	1 EA	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00
9	Adjust Water Valve Box to Grade per Section 301-1.6	29 EA	\$1,200.00	\$34,800.00	\$2,000.00	\$58,000.00
10	Adjust Utility Manhole Frame & Cover to Grade per Section 301-1.6	21 EA	\$1,700.00	\$35,700.00	\$2,000.00	\$42,000.00
11	Adjust Sanitary Sewer Lamphole Frame & Cover to Grade per Section 301-1.6	3 EA	\$1,600.00	\$4,800.00	\$2,000.00	\$6,000.00
12	Adjust Monument Box & Cover to Grade per Section 301-1.6	5 EA	\$1,500.00	\$7,500.00	\$2,000.00	\$10,000.00







This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Rehabilitation Phase for

Annual Street Paving 21-23

PROJECT NO.: 2022.0050 BID NO.: 23-24.013

BID OPENING	ENGINEER'S	ESTIMATE	DeSilva Gates 0	Construction, LLC
DATE: May 23, 2024	Date Approved:4	/30/ 24	11555 Dublin Bl	vd.
TIME: 3:00 p.m.	Prepared by: M.	Goralka	Dublin, CA 945	68
LOCATION: City Clerk's Office			Phone: (925) 8	29-9220
			Fax: (925) 803-	4263
ITE				

				ĮF		-4263
ITE						
M NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST
13	Remove and Replace Detector Handhole per Sections 301-1.3, 700, 701	1 EA	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
14	Remove and Rebuild Survey Monument per Section 309-3.1	8 EA	\$2,000.00	\$16,000.00	\$3,000.00	\$24,000.00
15	Remove Obstructions from Driveways per Section 300-1.3	5 EA	\$600.00	\$3,000.00	\$500.00	\$2,500.00
16	Remove and Replace Traffic Loop Detectors per Section 300-1.3, 700 and 701	4 EA	\$1,500.00	\$6,000.00	\$2,500.00	\$10,000.00
17	Remove and Replace Concrete Curb and Gutter per Section 303-5	160 LF	\$120.00	\$19,200.00	\$140.00	\$22,400.00
18	Remove and Replace Concrete Rolled Curb and Gutter per Section 303-5	28 LF	\$125.00	\$3,500.00	\$150.00	\$4,200.00
19	Remove and Replace Concrete Valley Gutter per Section 303-5	240 SF	\$70.00	\$16,800.00	\$40.00	\$9,600.00
20	Remove and Replace Residential Concrete Driveway per Sections 301 and 303-5	460 SF	\$60.00	\$27,600.00	\$30.00	\$13,800.00
21	Remove and Replace Commerical Concrete Driveway per Sections 301 and 303-5	26 SF	\$80.00	\$2,080.00	\$30.00	\$780.00
22	Remove and Replace Concrete Sidewalk per Section 303-5	259 SF	\$25.00	\$6,475.00	\$25.00	\$6,475.00
23	Full Depth Base Repair (4 Inches) per Section 302-3	151 TON	\$300.00	\$45,300.00	\$300.00	\$45,300.00







This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Rehabilitation Phase for

Annual Street Paving 21-23

PROJECT NO.: 2022.0050 BID NO.: 23-24.013

BID OPENING	ENGINEER'S ESTIMATE	DeSilva Gates Construction, LLC
DATE: May 23, 2024	Date Approved:4/30/ 24	11555 Dublin Blvd.
TIME: 3:00 p.m.	Prepared by: M. Goralka	Dublin, CA 94568
LOCATION: City Clerk's Office		Phone: (925) 829-9220
		Fax: (925) 803-4263

			<u>[</u> !		Fax: (925) 803-4263	
ITE M						
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST
24	Cold Milling Asphalt Pavement (2-Inch Depth) per Section 302-1	3,135 SY	\$10.00	\$31,350.00	\$11.00	\$34,485.00
25	Cold Milling Asphalt Pavement (2.5- Inch Depth) per Section 302-1	1,900 SY	\$11.00	\$20,900.00	\$15.00	\$28,500.00
26	Remove Surfacing and Base per Setion 302-1	499 CY	\$180.00	\$89,820.00	\$100.00	\$49,900.00
27	Remove FDR with Cement per Section 302-1	2,161 CY	\$180.00	\$388,980.00	\$200.00	\$432,200.00
28	Compact Existing Street Base or Subgrade Material per Section 301-1	1,279 SY	\$5.00	\$6,395.00	\$15.00	\$19,185.00
29	Subgrade Over-Excavation (Revocable Item) per Section 301-1.3	43 CY	\$250.00	\$10,750.00	\$100.00	\$4,300.00
30	Full Depth Reclamation with Portland Cement (8-inch Depth) per Section 301- 3.4	13,022 SY	\$15.00	\$195,330.00	\$15.00	\$195,330.00
31	Full Depth Reclamation with Portland Cement (12-inch Depth) per Section 301-3.4	5,371 SY	\$18.00	\$96,678.00	\$22.00	\$118,162.00
32	Full Depth Reclamation with Portland Cement (17-inch Depth) per Section 301-3.4	536 SY	\$22.00	\$11,792.00	\$100.00	\$53,600.00
33	Soil Stabilization at Shallow Utilities per Section 3.4.9.1	71 SY	\$65.00	\$4,615.00	\$60.00	\$4,260.00
34	Portland Cement for FDR per Section 3.4.2.1	435 TON	\$210.00	\$91,350.00	\$200.00	\$87,000.00
	HMA Paving per Section 302-5	5,246 TON	\$160.00	\$839,360.00	\$160.00	\$839,360.00







This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Rehabilitation Phase for

Annual Street Paving 21-23

PROJECT NO.: 2022.0050 BID NO.: 23-24.013

BID OPENING			ENGINEER'S	ESTIMATE	DeSilva Gates Construction, LLC	
	DATE : May 23, 2024		Date Approved:4/30/ 24		11555 Dublin Blvd.	
	TIME: 3:00 p.m.		Prepared by: M. Goralka		Dublin, CA 94568	
	LOCATION: City Clerk's Office				Phone: (925) 829-9220	
			!		Fax: (925) 803-4263	
ITE						
M						
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST
36	RHMA Paving per Section 302-9	545 TON	\$200.00	\$109,000.00	\$250.00	\$136,250.00
37	Remove Traffic Markers, Markings, and Striping per Sections 300-1.3, 314-2, and 314-3	1 LS	\$3,000.00	\$3,000.00	\$15,000.00	\$15,000.00
38	Traffic Markers, Markings, Striping, and Signage per Sections 314-4 and 315-1	1 LS	\$20,000.00	\$20,000.00	\$52,000.00	\$52,000.00
	TO	AL BASE BID:		\$2,760,775.00		\$3,550,550.00
REQUIRED DOCUMENTATION:			Bid Bond		YES	
		San Leandro Local Business				
			25 % Participati	on		
			Good Faith Effo	rt		
			Agreement to b	e Bound	YES	
			Addendum No.	1 Received	YES	
SUBCONTRACTORS:					Farwest Safety Chrisp Compa Spencon Cons	ny
				_	ycling Systems, Inc.	

Reviewed by: 5-23-24

Bennett Sanderson, Project Manager

Reviewed by: Sakre Date: 5/28/24

Austine Osakwe, Senior Engineer